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KVS TGT WET (Work Experience T 2017 Official Paper (English)

PART-1/ 97 -1
KVS TGTWET 2016 QUESTIONPApER  (Quiestions 1-40) / (wws-wea 1-40)

Directions (Questions 1-2): Out of the four alternatives, choose the one which can be substituted jbr
the given phrase in the following sentences.

I. A person who can speak several languages.

T

(1) Linguist (2) Polyglot © (3) Literary A Bilingual
2. A fictitious name assumed by a writer for writing purposes.
) Pseudonym (2) Nickname (3) Title (4) Hack

Directions (Questions 3-6): Fill in the blank.

3. The streets are lighted electricity.
(1) with .9') by (3) on (4) in
4.  We warned her ___the danger.
(1) from (2) for \J27 against (4) on
5. The structure dwarfed all the surrounding buildings.
(1) impossible (2) imposing (3) implacable ,(4) important
6.  The thief with the ornaments, .
(1) made in (2) made out (3) made off (4) made up

Directions (Questions 7-9): In each of the following questions, choose the opncm which best
expresses the meaning of the idiom/phrase underlined in the sentence.

7. The meeting ended_in fiasco. A [
A successfully . (2) smoothly
(3) in complete failure (4) in acrimonious debate
\
8. lhope it will not put you out if' I am late,
(1) affect you (2) please you (3) irritate you symnke you sad

9. It was out of place for him to talk on sports when the seminar was arranged to discuss recent
trends in information technology.

(1) foolish (2) strange .9) inappropriate (4) smart
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Directions (Questions 10-12): In each of these questions, choose the correctly spelt word

10. (1) Farahenite J2) Fahrenheit (3) Farahanit (4) Fahreneit
11 (1) Fleutenant (2) Lieftenant (3) Leiutenant (4) Leftinant
12, (J)/Commissiuner (2) Comissioner (3) Commisioner (4) Commissoner

Directions (Questloils 13-16): In each of these questions, select the word that is most similar in
meaning to the word given in capital letters.

13. GUILTY

() Remorseful (2) Immune (3) Right (4) Brave
14, ROTTEN

(1) Fresh (2) Superior ‘(}} Spoiled (4) Rusty
15, OBNOXIOUS N

(1) Lovable (2) Proud g;) Disgusting (4) Rich
16. SPARSE

EP'PIenty (2) Special (3) Funny (4) Meager

Directions (Questions 17-20): In each of these questions, select the word that is most opposite in
meaning to the word given in capital letters.

17. Congruity

(1) Incensistency (2) Symmetry (3) Agreement (4) Concord
18. Reflect

(1) Return ‘ (2) Refract - (3) Camouflage (4) Darken
19. Culpable

(1) Renew (2) Repair (3) Docile (4) Immune
20. Opaque

(1) Vague (2) Firm 3 Transparent (4) Poor
Code-78/N 3
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PART-II
(Questions 41-100)

The new human ancestor species of ‘‘Australopithecus deyiremeda’’ was recently found in
which country?

(1) Nigeria (2) Syria (3) Ethiopia (4) India
42, Sindhu Darshan Festival is celebrated in p 4
4 o Dharamshala. (2) Kullu. (3) Manali. (4) Ladakh.

43. Which is the Mobile App launched for people to interact with Prime Minister Narendra Modi
and share ideas and suggestions? ‘
Q}Narendra Modi (2) PM India (3) Pradhan Sevak (4) Pradhan Mantn

44. Which region of Uttar Pradesh has been recently included into National Capital Region(NCR)?
(1) Bareilly (2) Rampur (3) Muzaffarnagar @ Moradabad

45, Who won 2015 French Open mixed double title in tennis?
(1) Bethanie Mattek-Sands and Mike Bryan  (2) Ivan Dodig and Marcelo Melo
(3) Lucie Hradecka and Marcin Matkowski (4) Leander Paes and Martina Hingis

46. "INS Kalvari" is a/an
(1) Aircraft Carrier. (2) Cruise Missile.
(3) Ballistic Missile. (3} Scorpene Submarine.

47. Malli Mastan Babu, who passed away recently, was a/an
i (1) Environment Conservationist. (2) Sand Artist.
: (3¥Indian Mountaineer. (4) Journalist.

48. As per Ministry of Urban Development, which city has topped in implementation of Swachh
] Bharat Mission? :

g (1) Jaipur (2) Mysore (3) Chandigarh (4) Shimla
49. Which state has launched Aahar, a subsidised meal scheme meant for urban poor in the state?
(1) Bihar (2) Gujarat (3) West Bengal \9}) Odisha
50. Which country is supporting India in its Delhi Mumbai Industrial Corridor (DMIC) project?
(1) Germany (2) France (3) UsA (4) Japan
F Code-78/N 7
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Who has ﬂuth(}fﬁd the book “Indian Pﬂrﬁﬂ.mentary Dlplomacy — Spﬂaker's PE:.’I'S]}E:Gﬁvc“?

B Meira Kumar (2) Shivraj Patil .
(3) Somnath Chatterjee (4) Manohar Joshi
'Recent]y, N bank was launched by Prime Minister Modi to provide credit to small
entrepreneurs? L
.\ (YMUDRA (2) Udyog (3) Laghu Udyog ~ (4) Ujjawal
53 [nternational Women's Day is celebrated every year on 7
() March8 2) April 2 (3) January 16 (4) February 23
54. Panchatantra was written by
-~ (1) Kalidas. (2)-Vishnu Sharma. (3) Tulsidas. (4) Jaydev.
55. is the first Telecom Company to roll out the pan-India 4G network built on an
open partner ecosystem model. - |
(\l)aAirtel (2) Idea (3) Reliance (4) Vodafone
56. has acquired the title sponsorship rights for Indi_a's domestic and
international cricket matches to be played in India for a period of four years till 2019.
(1) Flipkart J}} Paytm (3) Star TV (4) Reliance
57. Name the place where Late Dr. APJ Abdul Kalam, the former President of India was laid to rest
after his sad demise?
(1f Rameswaram (2) Sivakasi (3) Mahabalipuram  (4) Madurai
58. India's first river information system (RIS) is to be deployed in
(1) National Waterway-1 (2) National Waterway-2
(3) National Waterway-3 (4) National Waterway-4
59. To sign up for the digital locker facility recently launched by Prime Minister of India, one needs
to have
(1) Passport. J;) Aadhaar. (3) PAN. (4) None of these
60. Under the Housing for All scheme Indian government has set a target of building
| houses by 2022.
| (1) 50 lakh (2) 80 lakh (3) 1 crore _(4) 2 crore
:
Code-7B/N 9
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61. In August 2015, India signed a Memorandum of Understanding (MoU) to tackle the menace of
fake Indian currency notes (FICN) smuggling with which country?
(1) Nepal (2) Sri Lanka (3) Pakistan _(4) Bangladesh
62. The government has identified 305 cities and towns across states for implementation
of its ambitious 'Housing for All' scheme.
(1) nine (2) twelve _ (3) fifteen (f} twenty five
63. is the latest operating system launched by Microsofi.
(1) Windows 8 (2) Windows 9 _g.)'Windnws 10 (4) Windows 12
64. is a new program from Facebook designed to help early stage mabile startups build
and grow their apps.
(1) Fbint (2) FbStart (3) FbStartup (4) FbFirst
65. Which city will host the Olympic Winter Games in 2018?
(1) Pyeongchang (2) Toronto (3) Helsinki (4) Beijing
66. Which is the fourth largest country in the world?
(1) Saudi Arabia ; (21 USA (3) Russia é‘-}) China
67. Recently, ace Indian Golfer Anirban Lahiri became the Indian to qualify for the
prestigious President's Cup of Golf.
(1) 1st (2) 2nd (3) 3rd (4) 4th
68. Second Border Haat Market was opened in June 2015 between
(1) India and Pakistan. .(2) India and Bangladesh.
(3) India and China. - ¥ g (4) India and Burma.
69. ““The ONE Campaign”® fights extreme poverty particularly in
(1) Asia (2) South America (3) Africa (4) Europe
70. 1In 2015, Memorandum of Understanding (MoU) was signed between India and Netherlands
during the visit of the Prime Minister of the Netherlands Shri Mark Rutte to New Delhi. The
B MoU was signed for the developmentof
& (1) bridges (2) metro coaches ‘9) smart cities - (4) vaccines
Code-78/N 11
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71. A directional post is erected on a crossing. In an accident, it was mmd,in A vl.ra}' m\:;;:e
- arrow which was first showing east is now showing south. A Passcr—b)’ went in a &
direction thinking it is west. In which direction is he actually travelling now ?

(1) East (i} North (3) South (4) West

' ' 3, 'If I give ds, you will have as many
72. A, B, C and D play a game of cards. A says to B, 'If I give you 8 cards,
# as G has and I shall have 3 less than what C has. Also if I take 6 cards from C, I shall have
twice as many as D has’. If B and D together have 50 cards, how many cards has A got ?

(1) 37 () 27 (3) 23 (4) 40

73. In a certain code language, 'Monday is a holiday' is written as 'sa da pa na' and 'they enjoy a
holiday' is written as 'da na ta ka'. How is 'Monday' written in that code Ianguagc?l
(1) sa (2) pa A saor pa (4) Data inadequate

Directions (Questions 74-75) : In each of these questions a few statements are followed by four
conclusions numbered I, I1, Ill and IV. Consider the given statements to be true even if they seem fo
be at variance with commonly known facts. Read all the conclusion(s) and then decide which of the
given conclusion(s) logically follow(s) from the given statements.

74. Statemenis :

A. All mirrors are phones. M=y
B. Some phones are gadgets. ?1 Mp
C. All gadgets are mirrors. :
Conclusions :
I. Some gadgets are phones. ' @ )
II. Some padgets are mirrors.
11I. Some gadgets are not mirrors,
IV. Some mirrors are phones.
(1) Only 11 and III follow (2) Only I and II follow
(3) None follows (4) Either Il or IV follow

75. Statements :

O ¢
: =
A. All rackets are jackets. Cow # cat
B. No cow is cat. cot=>do ) (:)

C. Only cats are dogs. Ase = Jac.

Conclusions :

I. Some rackets are not cats.

II. Some cats are jackets.

II1. Some rackets are cats. ;
IV.No dog is a cow.

(1) Only III and IV follow

(2) Only Il and IV follow
(3) Only either I or I1 and IV follow _{4) Only I and IV follow
i Code-78/N : 13
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81. =R Tdw S W a1 A frafafes § @ sF-w e o #2
(1) Q-wigai s (2) R-<lten s (3) Q-diten i (4) S-B=1 S

82. TR P,Q,R R ST W WiHe gan ik TR 51 W 41 991 Q, T & w911 5 9 Wt e
FH-F ST EvE @ 912
(1) w&en () T (3) o (4) e
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" Directions (Questions 76-78) : Read the information given below to answer t!1ese questions.

) Six persons A, B, C, D, E and F are going by a car to visit Agra. In this group, lherg: ane'rhie

d~ journalists, a professor and a doctor. In the group, there are two r_narnfd cou_ples. Nc: gfa:; in the

" " group is a professor and a doctor. ' is a sick man and he lives with his marriéd son C, mong
the three journalists, husband of 'D’ who looks after his sick father earns more than 'E’, who in
turn gets more pay than ‘B’. Sister of 'E’ gets less pay than her husband 'B' but not more than

: ‘A, . : o' o o Fir
76. 'Who is the professor in the group ? i P
nc , ; (2) B 1D
@A (4) Cannot be determined

77.  Which of the following is a pair of ladies ?

() A,B (2) A,C |
(3)A,D 2 (4) Cannot be determined

78. Who among the following earns the least 7 ,
(e - (2)B (3) A 4D

Directions (Questions 79-82) : There are six steps on. a staircase leading from the ground floor to
the first floor. Denote the first step by 1, second by 2, and so on. There are four people P, O, R and S.
Ne two people can be on the same step. ' ,

I. P istwo steps below R.
II. Q is on the next step to 8.
| IT1. R is two steps below S.

gz Y
| = >
| 79. IfP is on the first step, on which stepis S ? . T
: (1) Third ; éi} Fourth V(}) Fifth (4) Sixth
80. IfP is on the first step, which of the following is true ?
(1) Q is on the second step : (2) R is on the fourth step
. _(3)Sisonahigher step than R (4) Step four is empty
3
- 8l. IfT was on the third step, which of the following pairs is incorrect ?
E (1) Q-fifth step (2) R-fourth step ‘S})’ Q-fourth step (4) S-sixth step
82. IfT joined P, Q, R and S, and T was on the third step, and Q was on a higher step than T, which
step must be vacant 7 J
(1 First (2) Second (3) Sixth (4) Fourth
Code-78/N , : 15
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' 83-85 :ﬁﬁﬁﬁﬁﬁﬁ%ﬁﬂﬁﬁ“ﬁ@ﬁ‘mﬂﬁl i é
Egﬁm;maﬁ%ﬁmﬁﬁ-mwﬂnmﬁmﬂﬁﬂmﬁﬁ
ﬁﬁm-wﬁwﬁmwmﬁmmﬂmﬁﬁﬁ?ﬁmﬁmmmﬁ
() sfasre, faitn =2 % 9% 9% st fEmw s =) ;
(i) wﬁngmaﬁmﬁmmmaﬁtmﬁimmqﬁmml
(iii) Frota-SfE qEAR F1 STt R o ey 3R Sge e wfes o= @ = D A

siaue g1 =Meql g
(iv) T f 1 e e e (Wi o o T §); S i e i anfee we SareA St

fea s A = g ?ﬁ)‘k
83. =ETEl =1 ®E-H AE Yed AR afEd & smifa e e e
(1) o 50 3R s (2) Sfes == 3R O =0
(3) wrfes == 3 fAoig-whw (4) T 4 w0 A ;,@m}g‘gﬁu
: ' 2 P
g4, s it o TU F d fhe =rem st ey mae vk ﬁ :
(1) @ @)= (3) 9= ; %(4)sﬁﬂﬁrhﬁ
85, 37 W =mead e A smifam fea smom? @Jﬁ‘r i
(1) wTeET (2) FvER (3) TR ‘;{:W(@mﬂaﬁﬁaﬁ

i _
86. T=1 7 5% #die =9 W 3aﬂﬁﬁqwmﬁtauuﬁﬂm 3 =4 QB W I ferann
= faer? _
(1) 910.70 (2) 2931.20 (3) 7926.10 (4) 382430

§7. A, B 9 T Seat SR & 31 s6fn a8 B ¥ 60 5T w9 wHa 4 W 1 g0 F o 8w
oot 3 e 99 | 39 S &1 QW HL @17

(1) 13 @ 2 (3) 333 @) A W
88, 110 Hiex @t U 24 58 et W e @1 =i W= W &1 wAm faen 7 4 foe wfa 22 =i =
3 =9 7 UF e F1 4% fead §99 § UR R STi?
(1) 6 d%= @) 7% Fwe 3) 7% Tz (4) 15 %%
89, UF Ffrad gt @9 FW@ § A 3l BF =6l #1 o 3:4 81 e R g H A, B 20 fre
= TR Al 21 e W UEEs § A g forn T wHa 2
) mia‘a @) x-;-m (3) 2 9 @) z%u‘a
90. A,B &R C% U@ 3:4:5 379m ¥ 98 &1 3173 U6 § ¥ 96 B, 1/4 9 A F 3R 1/4 WAT CHI

% @ % @i R C, 1/6 W A FT %4 81 A, B 3R C % U 3fa ¥ fr oo A 9 92
(1)4:3:5 {25 5:4:3 (3)6:4:2 (4)5:2:5
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; 2
pirections (Questions 83-85) : Read the following information to answer these questions. % 1‘5;?_’2
The Director of the Institute has announced that six guest lectures on different areas like Leadership,
ecision Making)[Quality Circle] Motivation, Assessment Centre and Group Discussion are fo be
Lq;:rjgau'use: only one 6n each day from Monday to Sunday.
(i) Motivation should be organised immediately after Assessment Centre. &
(i) Quality Circle should be organised on Wednesday and should not be followed by Group
Discussion.

(iii) Decision Making should be organised on Friday and there should be a gap of two days between
Leadership and Group Discussion.

(iv) One day there will be no lecture (Saturday is not that day); just before that day Group
Discussion will be organised.

83. Which of the pairs of lectures were organised on first and last day? =i,
(1) Quality Circle and Motivation (2) Group Discussion and Quality Circle
(3) Group Discussion and Decision Making \’Wﬁfme of these

Y
B .. X'
84. How many lectures are organised between Motivation and Quality Circle ? {_E
(1) One (2) Two e 4) None of these Lo

85. Which day will the lecture on Leadership be organised ?
T uesday (2) Wednesday (3) Friday (4) None of these

. 86. Renuka invested a sum of 800 in a post office for 3 years at 5% compound interest .
compounded annually. How much money will she get at the end of 3 years? SHX

(1) 2910.70 (2) T931.20 _(3)}%926.10 (4) 782430 +

87. A is thrice as good a workman as B and therefore able to finish a piece of work in 60 days less
H than B. How much time will they both take to finish it together? r

Cact
) ) 11% days @) zz‘E days ®) 33% days (4) None of these =+
i .

"t
88. A train 110 m in length is travelling at the speed of 58 km/h. The time in which it will pass a -
passer by walking at the rate of 4 km/h in the same direction is

(1) 6 seconds (@) 75 seconds Vaa/?% seconds (4) 15 seconds

. 89. In covering a certain distance, the speeds of A and B are in the ratio of 3: 4. A takes 20 minutes
}( more than B to reach the destination. The time taken by A to reach the destination is
(1) 1+ hours (2) 15hours (3) 2 hours (4) 2 hours
F

90. A, B and C have amounts in the ratio of 3:4:5. First B gives 1/4™ to A and 1/4™ to C then C
+{ gives 1/6" to A. What is the final ratio of amount of A, B and C respectively?

(1)4:3:5 (2)5:4:3 (3)6:4:2 4)5:2:5
LY
Code-78/N 17
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91. WYW 20 G WEAH & WA B
(1)29 (2) 26 (3) 34 | (4) 30
92. = ®ad oI = Wem # € Wi 3,5,63 9% W W
(1) 300 (2) 600 (3) 900 (4) 1200
93, ﬁrﬁmm%‘ﬁﬁrﬂﬁmmmaaaﬁtsn%‘é’unﬁm,{aﬁEHﬂﬂmm%'
(1) 80% (2) 40% (3) 25% (4) 47% 4
04 et el 3 T e i e ek e e e o 45% s T w0 1 4R
aE 79 i T SR 56 FH W B ¥ o § @ faraa wian @ fog Fwifa e s fH
22 |
(1)200 (2) 300 (3) 350 (4) 400
95. ﬁﬂtﬁﬁa&i@ﬁﬁﬂﬁﬂuﬁﬂﬂﬂﬂaﬂﬁgﬁmﬁaﬁ%lmﬁﬂmﬁﬁﬂﬁaﬂ
Y 8 T R WS Han?
(1) 56 =14 (2) 49 74 (3) 25 = (4) 1454
96.,gsﬁwqf#aﬁzmnﬁzcﬁmmaﬂmlﬁqaﬁmmmmnpﬂzs%aﬁmm
o 59 fEan 36 A9 W 50% H A (e = T Faa e o QWA e ) e Freedt
T ufa £)1 gf i F fRa T G B2
¢ & - C c
— —_ )yl )
M5 @ 33 @ <
97. ﬁn@rﬁ#a@ﬂmmmwﬁmmﬁﬁmm:ﬁasﬁzssoﬁlﬁn@mﬁ
1 4 290 #1 A 7 FEAC F €72 . i o o
(1) 29,261 (2) 87,203 (3) aiiws swa & (4) T ° FE
98. ﬁmﬁﬁﬁﬂ@ﬁﬁlﬁﬁlﬁ,msﬁmﬁaHﬁlﬁ%lm‘ﬂﬂ#ﬂwﬂ*mﬂﬂﬁ
mﬁwmﬁmféaﬁamz?%laﬁmwﬂ .
(1) 63 (2) 27 (3) 19 (4) T § FIE T
' ' S R
. A,Bﬁﬂcﬁmﬂaﬁaﬁﬁzﬁzﬁwﬁlﬁm?ﬁﬁﬁm
" iﬁilﬁmﬁﬁﬂc(ﬁwﬁ)mﬁmaﬂm-mwmﬁaﬁﬁﬁ%‘lm
uﬁaﬁﬁuﬁm%mmmﬁaﬁﬁzﬁﬁﬁwm-ﬂ-mmaﬁézﬂf?.
100. m#ﬁ.ﬂmmﬁmaﬁnﬂTwﬁﬂﬂ?ﬁmw?mﬁﬁﬁlﬁlﬂ.gwmﬁﬁﬁfﬁlﬂ
ma’tﬁﬁlﬁﬁﬁﬁﬂa‘lﬁﬁﬂwﬂﬂ%@m?
(1) 348 (2) 438 (3) 384 (4) 834
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91. The median of the first 20 prime numbers is ] b:SZ= Y .
v (D3P (2) 26 T (3) 3 (4)30 A=7 -
92. What is the least square number which is divisible by 3, 5, 6 and 97
(1) 300 (2) 600 3900 (4) 1200

93, Two numbers are such that they are 40% and 50% of the third number. First number as a
percentage of the second is

\9} 80% (2) 40% (3) 25% (4) 47%

94. A student has to secure 45% marks to qualify for interview in a written examination. If he gets
79 marks and fails by 56 marks, what is the total number of marks in the written examination?

1) 200 0 3) 350 (4) 400 5% =7915¢
M 30 ®) vl
95. A man gets double the amount in 7 years at a certain rate percent. In how many years, he gets § 1"=H5ip
times the amount at the same rate? ; o
(1) 56 years (2) 49 years (3) 25 years (4) 14 years

06. Ms. Sharma bought a house for ¥C in 2010. Three years later she sold the house for 25% more
than she paid for it. She has to pay a tax of 50% on the gain. (The gain is the selling price minus i
the cost.) How much tax must Ms. Sharma pay? 0 2 lg 3
'.1. =9

C- c < e
O @ N R e

97. The sum and difference of LCM and HCF of 2 numbers is 638 and 580. The sum of two .
numbers is 290. What are the two numbers? _ :riu_ e
(1) 29,261 (2) 87,203 \(3yData inadequate  (4) None of these

98. In a two-digit number, the unit digit is 3 more _1han the _tep‘s digit. The diﬂ'e?ence betweqn the
number am%l the number formed by interchanging the digits of the number is 27. What is the ‘
value of original number? Ty
(1) 63 \ 1 (2) 27 (3) 19 (4) None of these ~ /0x+Y

' Y= lox 13 |

s d C have a few chocolates among themselves. A gives to each of the other two half the xy-yz=n
9 ‘:LG:EE::& chocolates they already have. Similarly B and C (in that order) give each of the other = ;
two half the number of chocolates each of them already has. Now, if each of them has the same i
number of chocolates, what could be the minimum number of chocolates they have among !

?
ﬁ;nz'l:;lves. @ 81 (3) 27 (4) None of these

m side cube is painted from all sides. If it is to be sliced into 1 cm side cubes, how many

100. Al0c ! ;
smaller cubes will have exactly one side pamted?3 . o
[ -(1) 348 (2) 438 (3) (4) & ez
Code-78/N =
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101, frefefan @ - TR TF sm-AEiid Sg-shEe T @ @Y e e e?
(1) vigh! TS (2) T = (3) T =HE (4) fot zriE

102. gﬁwﬁmﬁmﬁmﬁnmﬁaﬂﬁmﬁmﬁfmﬁﬁ#ﬂmwm
7

(1) fm e (2) T T (3) g1 TS (4)Wm
103. 3mgfa T @ w9 § e WA 9 Rewl § wam e wn oaen eEE € £
(1) ™ EHEE (2) gi1 sHEE
(3) €U TIAEA SRR (4) Yz S
104, GaAsP ¥ &+ P-N &4 ¥ Soafela wehrel &1 T el 2| 3
(1) @re = dien (2) G Fa@a (3) free era (4) TUSTE
105. TW @s aren U LED 3R sl Wil = g
(1)29 9% (2) 18 975 (3) 07 97F (4) o= 09 175
106, fa=fafaa § | wH-T1 fheex wfiuy gatwy aieear fFaam 3@ 82
(1) 9% T (2) wfey 52 (3) HurfiE 32 (4) 3 |t

107. afz faet 2@ # PIV ¥ 1 sifawno & 91C df 39 SME =1 1 g 82
(1) T T, SR BTAE @ T H S0 A €
(2) SHEE F = =F B S 8
(3) AT 7= ¥ Wi
(4) THTE = FE 4% A 8

lﬂg.wwmﬁﬁ@ﬁhﬁwﬁmmmﬁﬁw%?

(1) fe=eswm PREREL - (3) S TS (4) S(A) Sreed
109. foet free em@e #1 wE(A) S T % qUat gt 2

(1) Tv" dieed (2) &7 e (3) Ufyanr fava (4) W9 Steed
110. fat 1000V faga amqfd & frw frm & "t 1 3w s =ew?

(1) 9= | (2) TR i

(3) 9g Huif (4) Terega-319eeg Sy

111, o=t o &0 9w (Ge)
(1) TwE ¥ v&F 6° §. gf ® WY g el i @
@) aA ¥ w&w 1089, gfg & 99 T 8 o @
(3) T § Yo 604, Ffe B Wy fp @ oW
(4) T9A | AT Tl ©
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PART-1II
(Questions 101-200)
i Wg&zg?;g;;ﬁ\ﬁng diodes operates with 5 forward biased metal-semiconductor junction?
9) e (2) Tunnel diode (3) Gunn diode (4) PIN diode
102. Bf;];%h of the following diode is very suitable for switching high frequency signals ON and
(1) PIN Diode (2) Gunn Diode (3) Tunnel Diode (4) Zener Diode

103. The diode which is mainly used in

(1) gunn diode armonic generator circuits as frequency multiplier is

(2) tunnel diode.

(3) step recovery diode. (4) schottky diode.
104. The color of the emitted light from the P-N junction made of GaAsP is
» (1) red or yellow. (2) far infrared. (3) near infrared. (4) ultraviolet.
105. A seven segment LED array can display 2
(1) digits from 2 t0 9 (2) digits from 1 to 9
‘(}} digits from 0 to 9 (4) digits from 0 to 1 only
106. Which of the following filter circuit results in best voltage regulation?
(1) Choke input (2) Resistance input (3)_ Capacitance input  (4) All these
. 107. What happens to a diode, if the PIV rating of the diode is exceeded?
i (1) Diode behaves as zener diode (2) Diode conducts poorly
(3 Diode gets destroyed (4) Diode stops conducting
- 108. Which one of the following is a measure of purity of the power output of a power supply?
i (1) Rectification 2) Regulation (3) Ripple factor (4) Knee voltage
"
| ;
.+ 109. The knee voltage of a crystal diode is approximately equal to :
E (1) reverse voltage. (2) forward voltage. =3 ?_E" ,
(3) barrier potential. (4) breakdown voltage. A
| ;
| . P
. 110. Which type of the capacitor should be used ina 1000V power supply? ]
E J) Mica capacitor (2) Paper capacitor 7
L (3) Air capacitor & Electrolyte capacitor

I11. The leakage current in the transistor (Ge)
(1) doubles for every 6°C rise in temperature.
J2) doubles for every 10°C rise in temperature.
(3) triples for every 6° C rise in temperature. -
(4) is independent of temperature. L

Code-78/N =
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112.aagfﬁmaﬁmﬁrmqﬁzmmhﬁaﬁt%ﬁ@@m%mwm%ﬂ !
(1) S Y wF S § (2) ST WA @ e

(3) TTET YR 9% Wl # (4) TR UR W S @

113, frdt TR 3 TY ©F S S F1 @ e S 2l
(1) sfva a9A gfz = 954 & fo (2) 1 @ "gH F fAg
(3) w9 ¥ 9gH & fau (4) 31 deed TgH @ fA

114, 379 SiF foamg § OF giver & Few aik el dieem @ 9 wele o 2
(1) 0° (2) 90° (3) 180° (4) 270°

115. mwmﬁwmﬁwgﬁm%ﬁhaﬁmﬁaﬂmﬁmmqmm%
(1) Fra iy (2) Frfa wferw (3) afsex 1 B (4) TR #l

116. MR 4T feeris 1 War i §¢ a0 et ey & fag wfae w17 (5) T T
I 2
(1) S=a+p (2) S=1+p (3) 5=1-p (@) S=2+8

117. foe i ofow #1 T & &ie @&
(1) T991 & o e T @ afus yau o @
() T 2 T @iE T & FEE wl ¢
(3) @ e T W Wi @ s T w
(4}wﬁﬂﬁm%@ﬁmmﬁﬁ%ﬂmﬁqﬁqm@-@iﬁm?

113.@;@%@%%%%%@%3@%%%

(1) Q fag Wi & = IR 5% (2}Qﬁgﬂﬁ’fﬂ%§1ﬁa‘nm%

(3) Q fag ol & =0 &R 1% (4) Q faig =l & = 3R 109 20%
119, el s 2 @ foig e TR () (o ) R €

(1) TFH (2) A

()T @ I W TEHF (4) aftfid &t

120.aﬁmm,ﬁaﬁﬁuﬁmmq@maﬁwﬁﬂma&mmﬁmi

, Fead 2l
(1) 5@ @t vadF  (2) TN () F™ U yadE  (4) T | Fg T

121, FAE-T @ yadF F1 =5eH F_ % 9 Ig &
(1) 180° 307 360°  (2) 90° 3% 360° (3) 90° 3R 180° (4) 270° 3R 360°
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;_ 112. What happens to the collector

.’ reverse biased? current, when the emitter/base junction of the tm}sisl.:or becomes
| (1) Collector current stops :
(3) Collector current increases (2) Collector current is reversed

{4) Collector current decreases

113. A heat sink is used with a transistor to

[1) prevent excessive temperature rise.

: (2) increase forward current.
(3) increase reverse current.

(4) increase forward voltage.

114. In common emitter configuration, the phase difference between input and output voltage of a

transistor is ;
_ (1) 0° 2) 90° (3) 180° (4) 270°

115. The reciprocal of the slope of the output characteristics of a transistor in common base

configuration gives 73
A(¥Yinput resistance. (2) output resistance. T

(3) P of the transistor. (4) u of the transistor.

116. The stability factor (S) for common emitter circuit is given by (treating base current
constant)
(1) S=a+p D) §=1+p (3) §=1-8 (4) 5=2+§

117. The ac load line of a transistor circuit
(1) is steeper than its dc load line.
(2) is same as its dc load line.
" (3) never intersects the dc load line.
J(4) is steeper than its de load line but the two intersect at Q point.

118. Small signal operation of a transistor is that in which signal excursions are
(1) 5 % around the Q point values.
(2) 10 % around the Q point values.
(3) 1% around the Q point values.
(4) 10-20% around the Q point values.

119. For.an ideal transistor, the reverse parameters (Ao & ) are
(1) unity. g zero.

(3) either zero or unity. (4) not defined.

120. The transistor amplifier in which collector current flows for less than half cycle of an ac signal
&a (}‘..llzgs B amplifier. (2) Class C amplifier.
(3) Class A amplifier. (4) None of these

; s-AB amplifiers lies between "
O S 360 Bl o and360° () 90°and 180°  (8)270°and 360°

23
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122, 10 wevrEncan nmit tor the efficiency of class B amplifiers is
359 " ’ i : Se—— .
m 78.5% (2) 50% (3) 60% (4) 100%
123. The number of amplification stages of a radio receiver is

(1) two, (2) three, (3) less than three,  (4) more than three.

124. The noise factor of an ideal amplifier is ‘
Ul (2) 1B ") 0.1dB (4) 10dB

125, Which type of coupling is used in multistage amplifier to amplify d.c. signal?
&9 RC (2)-Direct (3) Transformer (4) None of these
1

126, In an amplifier, the maximum gain is 300 and oceurs at | KHz 1t falls to 353.5 at 5 kHz and 25
Hz. The bandwidth is

(D3 HztoSkHz () IKHzwdkHz, ()25 Hzto 1 kHz.  (4) 1 kHz

LT

127. Which type of the coupling is mainly usad for impedance matching?

i W13 Transtormer coupling (2) RC coupling
f (3) Direct Coupling () Al these
| 128 Lowerand upper froquencies are also callead
D) 3 dB frequencies.  (2) 10dB freguencies. (3) 20 dB froquencies. (4) 3 dB froquencies,
129, Human respanse to heanng is
“(1) linear. 2) exponential. (3) quadrstic, ) logarnithmie.
130, An amplifier has an open-lovp gain of 200 and 3 feadback of Q1L 11 the open-loop gain Shanges
by 10 9% due to temperature, the % change in the closad loop gain is e .
(NH05% Q1% Y02 % () 1% . o
. - M\ 3 :':“i
- (o
131, Negative foodhack in an amphiir o o & hays
(1) increases its handwidth, (=) raises oS upper hall power froquency. & ;‘:‘:_‘ 2 3‘
o . 3 fraQuRney. AV Al these R |
(3) lowers its lower half power TRQRIY. & e8¢ s 12w
" " 'v*.a,\r L
132, When drain voltase equals the pinch-0fY volage, the dran cumrent .
(1) increases with increas in drain ViR, sV
’ x 3 AR T o wl i e [ 1
2) decreases with INmas 1 :1_ :‘:};;e LS e
R > in Grain VORERR. vl =i
(3) decreases with dm'f-ﬂ m ‘“*“ . e ol ‘:{ﬂ,_ - @
\1'“ remains constnt With 3T i \"_"i ,";1 :
25 ¥ - L
c@d&b?&’ﬂ G e ] ‘
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133, el JFET S e wieem, form vy s v ypmow i ¢ _____Tr'teamrﬁmn"rti |
(1w () wgfa (3) Wl Ll |
134, faftrt frabe whwivs (SCR) W frerffas f Q wn frete w wh 87
(1) ' (2) TiE (3) thirs (4) W
135.fafmfhhnﬁauﬁmwtﬁcmmﬁﬁwa‘mﬂﬁahmwﬁvﬂﬂﬁammh
(1) w&m e v (2) aif w0 @ o v b
(3) ¥ & W sTew e @ (4) =g v g ¢ ":;‘-1'
136. U WMo F Frifom @ ) O
(I)Wﬂﬂ*ﬁjﬁ&m | (2) momesd EhHam i :
(3) 7= FiHEn (i =w) (4) A @ YEAREFR A AIEF A
137, uw fFea =1 med 10 fisd, tluﬁmz%mﬂmaimaﬁaqﬁi
(1) 2% =g wee (2) 2% w2 St
(3) s=(fer) == @t (4) 1% = wTwh
133.Mmmm:mnmﬁimﬁmwﬁmﬁm#&ﬂ
() L=k C ()R 3R C (3)R,L3k C (@) 7 3§ w1 T
139, w fasify <o T T E |
(1) =mamm fofa (2) S fofa
(3}ma&mﬁmwm‘mﬁ7h (4) FiR (77maRr) <em
140. wHfrafos agaies (MMV) #1 arar wa@m fr s 2)
(1) wftaedl %1 oM 3 F
(2) 598t @R 2fin ofmd o
(3) =g @ 3= w0 & fag

(4) T S Sfoi-2ivi w0 @ T 71 e 3 g
141, 3= #Ef9 fama % @y mmmmmaﬁﬁm(m)mmg.

142, mﬁ't&ﬁmﬁmmnﬂmmmmmmh
(1) smfa (2) s (3) (1) iR (2) =z @) ¥ 3 7 7
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3. The gate voltage in n JFET g which d

; : rain ¢ : ey
(1) pinch-off voliage, () s lirrent becomes zero is called

Aturation voltage, (3) active voltage, (4) cut-off voltage.
134, Which of the following is conirol element j

n Silicon Controlled Resistor (SCR)?
(1) Gate (2) Anode

(3) Cathode (4) Source

135. A S']l"f‘m ?@"mncd Resistor(SCR) is made up of silicon and not germanium because
(1) silicon is inexpensive,

ie (2) silicon is mechanically strong.
(3silicon has small leakage current,

(4) silicon is tetravalent.

136. An oscillator employs

) positive feedback.

(3) no feedback 2) negative feedback.

(4) either positive or negative feedback.

137. A cr}fsl':ai has a thickness of 10 mm. If the thickness is reduced by 2%, the frequency of
oscillations will "

(1) increase by 2% (2) decrease by 2% (3)-remain constant (4) increase by 1%

138. In a phase shift oscillator, the frequency determining elements are o
(DLandC J;]Randc (3)R,Land C (4) None of these

139. A relaxation oscillator produces
(1) sinusoidal output,
2] non-sinusoidal output.
(3) either sinusoidal or non-sinusoidal output.
(4) oscillations continuously.

140. A monostable multivibrator (MMV) is frequently used
(1) in counting circuits.
\(2¥in memory and timing circuits.
(3) for producing triangular waves.
(4) for regenerating or rejuvenating old and wom out pulses.

141, Combining the low frequency signal with very high frequency radio wave is called

4 modulation. (2) demodulation.  (3) coding. (4) superimposition.
142, Which of the following modulations is used in India for radio transmission?
(1) Frequency (2) Amplitude (33 Both(l)and (2)  (4) None of these
Code-78/N 2
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143. fyefafas § 9 - 97 g8 &7
(1) "fgeA =1 ¥ 3fg % W9 ans wieE gad ¢
(2) vigFA @ A gfg & |y aww v ue
(3) Hige ' A Fl R W aww vl aad b
(4) AT wfFd, WA &R | @ ot #

144. Fafafas o 4 0 sifa wfgem =1 w vfom $2
(1) fma =1 F=5er g (2) fagfa (fawgm)
(3) et famme =1 vaa e (4) sfaerg ame® wlw

145. MOS ICs (usiga wfugi) & gt 2
(1) fexEta = it =t qo 1 § FOm vaed =
(2) foydra smé @t # go F dam waen 9@
(3) feydta s o oot wom waem 99

(4) T 4 F1¢ 78
146. fefsee amd @ & foq Frafafas § 9 FF-W stos aoF J"e &9 Q@ S9gH g 82
(1) TalEa (37EE) (2) vael foes
(3) WX (4) wae fee 3R g
147. WE&T-14 %1 8 fag 2 =1 [H w9 2
(1) 11110010 (2) 00001110 (3) 10001110 (4) 01110001
148. fodi fgsnud W& & MSB %1 WK 512 21§ § faz £
(14 (2) 10 (3)8 (4) 16
149. fFm 12 F1 U =927 &1 o€ Wam 8 f@&m o gwanr
(1) NOR (2) AND (3) NAND (4) X-NOR
150. fr=fafas § € fow T2 & 50 o 5o 76 =" f ¥ 9w 82
(1) AND (2) OR (3) NOR (4) XOR
151. af2 44 B=A+C3R 4B=AC, 7 fr=feafas d 4 =0 W@ 2
(h)B=C (2)B+C=0 (3) B=2C @DB=4+C
152. &9F A + AC + ACD + ACDE + ... %1 91 F W B
(A 2Q)4A+C (3)4A+D (4 A+E
Code-78/N 28
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+(1) Larrier power increases wij, i . ) A7
(2) Carrier power decreases mm‘;fm In modulation level. Bl
(3) Carrier power increases wit, g rease in modulation level
(4) Carrier power is ind ccrease in modulation level
: cpendent of the modulation level.
144. Which Dﬂhf f‘}tl"":'ing is a result of over modulation? i
(1) Weakening of signal A il
(3) Strengthening of a sig L Tasp oo B
golasignal \(4) Excessive carrier power %
145. MOS ICs have ' n
(1) slower operating speed than bipolar ICs. y 1 4
|2 faster operating speed than bipolar ICs. 680l DID .
(3) same operating speed as that of bipolar ICs, {nole!
(4) None of these e e
T 100
146. Which of the following fabrication techniques is ideally suited for digital 1Cs? o o lviiR
fU) Monolithic (2) Thin film ! : f
(3) Hybrid (4) Thin film and hybrid AR
147. The 8-bit 2's complement form of the number -14 is ; .-;
(1) 11110010 (2) 00001110 (3) 10001110 (4) 01110001 f}i
148. The MSB of a binary number has a weight of 512, the number consists of L E
(1) 4 bits (2) 10 bits (3) 8 bits (416 bits
149. A GATE, which cannot be used as an inverteris . 4
(1) NOR A2) AND (3) NAND (4) X-NOR
150. Which of the following gates is also called ‘all or nothing gate™?
(1) AND (2) OR (3) NOR _(4)XOR
I51. If 4+B=A+Cand AB= AC,then which of the following is true? ' et
“)JE’E’C (2]B+C’=ﬂ (3)B=2C HB=4A+C ,~
152, The expression 4 + AC + ACD + ACDE + ... isequalto . B

Y @atC  OAD  @asE

Code-78/N
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153, 9% 4@ 8 % 7 ® U #)
(1) 4o B (2) Ad B (3) A+B OR i

154, Frefafan o @ fvm wifes (va) qa =1 Sagem weais weam o €7

(1) CMOS (2) MOS @) IIL (4) TTL Y
I155. MOS fefrest af +ft gm0 form o & MOSFET =7 fafre w9 & waim Fsn ST 82
(1) T3& MOSFET (2) Tt MOSFET g
(3) 7 Tt wfs W B MOSFET (@) 7 @ = 7@ i

156, T TTL uftey 7 w5 F T w2
(1) 7= e & v aifiom oit w=a st § w0 T
(2) 799 s1en W wm Afwem s fom sEen § v e
(3) F=1 sraeen F wm sfiom o e s § uo W
(4) 350 Waeen | gy sfom afR 3= st § W W

IS7. WERIRH e W O IEE 8
(1) 7u5=A (2) == (3) =g (4) W 7=

158, foefl e fadl fadd giewtk (LVDT) &
() Bt 1 Hzer o B | HEw T B 2
(2) & s weeml § BU wt dEm R a §
(3) @ fadfai o ufia ateeard s B 2
(4) =1 fieierl ® 4w dicead wen # @ €

; 159. Wiy aHH wgeF T ¥ fetatas 3 | fees wam fe s 82
(1) Frem (2) T=A (3) = (4) 3 gt

160. Frefafad § @ $H-T F97 Tow 22
(1) TSR TF Sl SYa I 8
(2) fasgfmdt o dga g @
(3) At (o) Wi, Wit Wiy gheege &
(4) Ardt (IFR) Wil F1 9y TEA T S T
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153. The expression A® 3 is equal to

(1) 4@ B (2) 4®8 (3) A+ 8 \;SQNnneufthese

154. Which of the following logic families has the

highest packing density?
(1) CMOs (2) MOS
o ]

(3) IIL (4) TTL

155. Which type of the MOSFETs is exclusively used by MOS digital ICs?
~(¥f Enhancement MOSFET

(2) Depletion MOSFET

(3) Either enhancement or depletion MOSFET
(4) None of these

156. A TTL circuit acts as current sink in
LQ») low state and current source in high state.
(2) high state and current source in low state,
& low state and current source in low state.
(4) high state and current source in high state.

157. A microphone is an example of
(1) ultrasonic transducers.

(2) acoustic transducers.
(3) magnetic transducers.

(4} inductive pressure transducers.

158. In a linear variable differential transformer (LVDT),
(1) all three windings have equal number of turns.
{27 two secondary windings have equal number of turns.
(3) the induced voltages in two secondaries are unequal.
(4) the induced voltages in two secondaries are in phase.

159. Which of the following are used in making resistance temperature detectors?
(1) Nickel (2) Tungsten (3)Copper . (4) All these

160. Which of the following statements is false?
(1) A transducer is an energy conversion device.
J27 Strain gauge is an electrical transducer.
(3) A thermistor is variable resistance transducer.
(4) Thermistors have negative temperature coefficient of resistance.

Code-78/N 31
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lﬁl.ﬁmtgvﬂgﬁmﬁmmm
(1) ¥ @i gieea smm et ¢
(2) 9@ 3R deem ¥ i ¢
(3) ¥ SR A ff = g ¢
(4) 3T SR Aee ot s v

162.;!;1;?“&;;&%«#1@%maﬁmmaﬁ#m4m$mﬁm‘ﬂ#ﬁ
] | AR R F % e 3 kI foan e 4 ) wew @ amoaR A T A
(1) 150 v (2)75v (3) 25V @10V

163. mﬂﬁﬁgwﬁwﬁﬂuﬁ%wﬁﬁ’ﬁrﬁﬁgﬂﬂﬁﬁq-mmm%?
(I)Wmﬂﬂ?ﬂmaﬁmﬂﬁraﬁﬂﬂﬂg
(2) He wfedy, gft 4ot aferdel & 4m @ e w2
(3)%%%(&&)@%&@3{%3\@%@%%
(4) 3 ot

164. T § W Y 7 e wRRm @ AR ¥ frefifer § @ SH-w w8
(1) W% Il & SIR-YR dieedl A B 21
(2) O wRwe & frae vy &1 e, sfm shad @ e $ A @ e
(3) Yman urus w1 ah, Sl g ey W v gw ym @ e g
(4) TF ImEn ¥ Y e w8l

165, ferelt wftaer A foredt off =g o it aeem TmY o g e ael @ dista 9 v o R

77 fm weera § :
(1) 3w @1 fram (2) fF@s &1 uro fm
(3) frw@® &1 dieea fam (4) ¥ %1 frw

166. TF UM AT F4 Bl 87
(1) U wfY STl wrEn ur wgE A fave g as gl
(2) UF W% 99 A1 G Sl aleedsi & Sy A Evd Y e

(3) fereft uftay & o R WETaH |/WE &5 Y

(4) 9 9 i 7@ |
167. YREAfERT WG & WAy B9 & fou frefafes & @ # sfEd g 22
(1) feafeefsan (2) e
3) Yaw iR fewfeds “eam (smem) (4) 7% | 1 78
Code-78/N 32
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161. In an open device, current

rough i ;

W’zeru and vollage is unknaw“gh e oC-
(2) known and voltage js 2er0, : - 45> z QAID
(3) zero and voltage is 15, Zero ’ ol

(4) unknown and voltage is alsg unknown

B - ":
L )
i ql “-'Gﬂ"““&&
An energy source f, Ll
162. : orces a ¢ -
3 kJ is given in terms of 1 ighﬁn:ri?;;u;:m C]if S ampere for 4 sec to flow through a light bulb, If
» M€ Vollage drop across the bulb is .
() 159 @75V ) 'Esv | (@) 100V
. Which of the following i A
g Both the resi o ?s rue about the two resistors connected in series? &
(1) Both the resistors carry same amoun; of current % ,/p\

(2) Total resistance equals the sum of alj series resistances,

(3) Sum of individual voltage drop(IR) equals the applied voltage.
| (@Al these

164. Which of the following is false about three unequal resistances connected in parallel?
(1) Voltage across each branch is same. '

(2) Reciprocal of the net resistance of the entire circuit equals the sum of reciprocals of the
individual resistances.

(3) The sum of the branch currents is equal to the total current supplied by the battery.
,\yff Current in each branch is equal. |

165. The algebraic sum of all voltage drops and EMFs in any closed loop of a circuit is zero. This
law is called

(1) Ohm’s Law. (2) Kirchhoff’s Current Law.
\g/ Kirchhoff’s Voltage Law. (4) Snell’s Law.

166. A principal node is a | "
{J)Junction where branch current can combine or divide.
3 (2) closed path or loop where the algebraic sum of voltages must be zero.

(3) simple possible closed path around a circull

(4) None of these
167. Which of the following is essential for reciprocity theorem to be:apelionbies
. (2) Lineanty
(1) Bilateralism ' (4) None of these
A(3) Linear and bilateral networks
33
Code-78/N
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Loy, fa witee W aiftesen v st ) vl wifn sl W ' fY '
(1) ware gl uftuy (2) iR witny TN
(3) ek wituw () Wi ity e
169, st it A Wi , W fwfe w6 fawe o e
(1) st W T W W wigu) (2) @t was wal = wfsl
(3) w3 sl W\ wftge) () 5 A W e

170. Frfafaa 3 R v W A S v e
()R ®E W& (2) oiF we s (3) 9 WiE W (4) A Wit

171, ¥e W W Hsferal @ 3w s
(1) & () & T

(2) ¥
(3).058 03 (4) 0.5 :
172, 2070, W sftwiom fa % gawvm gl 400 1 « 10 H/im #1 W i anE SR
ShHT: Vﬁl i
(1) 4.04 t x 107 H/m. (2) 1.01 m x 107" H/m.
(3) 2.02 7 x 107 H/m.

(4) 404 & x 107 H/m.

173. 2.5 9. 14 1 ©F 7R R} o vated B @ YIT %1 WH 100 A €1 3% TR F T uw qi
1R o o A @ & S w A v o e

(1) 144 AT/m (2) 104 AT/m (3) 244 AT/m (4) 72 AT/m
174, wed o = e S g GE S @ s @ o By g FEom ¢l
(1) wfaery (2) 9@ - (3) wheiesrar (4) W
175. ﬁmqﬁaﬁ%mqﬁaﬁqwﬁw,ﬁﬁmmﬁaﬁmmmmm%,mmuﬁm
& U B 8
(1) W% 9y & wfaws & oy (2) W&F 19 F whremy
(3) v&= 99 & whe & o (4) 7 T & whey @ fap

176. R swftfra w9 Sreel § @ ToF 20 A’ W W w4

A T I F 20 T
® 9 Wi e da ww @ A= 9w w5 R B
(1)4x 104N (2) 2% 104N (3)3x 104N 4)Sx 104N
177.ﬁwmaﬁﬁmgﬁa%aﬁam,mmﬁa%mﬁm(ﬁﬁ_w) T,
(1) MOSFET (2) EET (3) BIT (4) 3R T
178. TF 31=R 410 ¥, 2kQ 1 TF TE F 400 mA ¥ F Y e 1w+ wire e 200 Q
w5 s € W s wm e ‘
(1) 400 mA (2) 200 mA (3) 100 mA (4) 50 mA
Code-78/N | 34
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: ‘hich cireuit, the i
68, In which clreuit, the condition of pyyi : . .
A1) Communicational Circujgs — Power transfer s not desired?
. ( Compor:Ciuis
| in!
169, Thevenin's and Nortan equivalents eanno : in eireui inin
(1) DC independent sources, L be developed in circuits containing
(2) AC independent sources,

(3) independent and dependent sources
(4) None of these , S

170. Which of the following inductor has mini

: : : mum eddy current loss?
(1) Ferrite Eifredmducmr 2) Iron core inductor
\L}r.ﬂﬂr core inductor (4} All these

171. The coils on thei iron core have coefficient of coupling y &
(1) equalstounity  (2) zero (3) rom.05t0 0.3  (#) 0.5

172. The magnetic susceptibility of the oxygen gas at 20°C is 400 x x 10" H/m. The absolute and
relative permeabilities are respectively

(1) 4.04 7 x 107 H/m. : "(2) 1.01 = x 107 H/m.
(3) 2.02 7 x 107 H/m. (4) 404 = x 10”7 H/m.

173. The current flowing through a wire of length 2.5 cm is 100 A. If wire is bent into a square,
magnetizing force at the centre of square is

(1) 144 AT/m. _(2) 104 AT/m. (3) 244 AT/m. (4) 72 AT/m.

174. The property of the material which opposes the creation of magnetic flux in it is called
\g}'reluctancei (2) conductance. (3) resistivity. (4) permeance .

175. The reluctance offered by a magnetic circuit consisting of two parallel paths acted upon by
same magneto motive force is equal to
A7 half the reluctance of each path. (2) the reluctance of each path. Fott "
(3) twice the reluctance of each path. (4) thrice the reluctance of each path. @ N

176. Two infinite parallel conductors carry currents of 20 A’ each. Thf: magnitude of the force
between the conductor per metre length if the distance between them is ‘20 em’ is '
(1) 4% 104N (2)2x10*N (3) 3% 10*N @ Sx 10N

177. ﬁﬂ:ich of the following devices has characteristics very close to the ideal voltage source?
(1) MOSFET (2) EET (3) BIT () Zener Diode

178, A constant current source supplies & current of 400 mA 10 a load of 2 k2. When the Joad is
changed to 200 Q, the load current will be

¥ 400mA @ 200mA e %) S0 mA 3

Code-78/N 35 : "
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179,

180.

181.

182,

183.

184,

185,

186.

187.

188,

189.

2 mA S T W W F1 ot Wi 20 Mo §1 g v e S w9 S TR R
(DOF200kQ T  (2) 0% 20k 7% (3)0R 100kQ T (4)0% 2kQ T 1

e i & A F Frefafan § @ s
: . -9 Fyq A
(1) 9 ¥y (R) vt w9 @ i 8 3 BaS , .
(2) @S 5fely 100R, A v g 2 ,
(3) TirE e s B &

(4) s M 3R+ diE iy (R) ¥ =a7 Bt 3 -

T SIEHT T H R amfa 50 v i - 1 R
ERIDA“T“E'E%‘&WMW’:?? mmmﬁ'mﬂmmmmﬁwv
(1) 1200 s (2) 1/600 s (3) 14400s . (4)1/250s

ISpF 3 30uF 71 & 3 et it 3 Sigy o 3 HAH
F IN-R Wig W # @ ufy ST F T B <& M <

(1) a5 A (2)1A Byn2A 4)2A

V()= 100 sin 1000 t 1 =Teit T =g S, 100 F 99 =& Ui W
T &1 W (Frem) WA Y b

(1) 500 sin 2000t =/ (2) 100 sin 2000t =12 (3) 500 sin 1000t 3= (4) 100 sin 1000t 52

2MHz R TH 100 nH et F1 Q= 200 #1 e 1w why wvm)
(D2r (2)4r Q (3)6n Q (CYR ¢!
fell 7R =% & and wifew faigell W uwr o 2 1

(1) stferem w1 gt : (2) fyFem wm =t amf

(3) sfvFam wwr #t 0,707 T - (4) ST v R 1414 TR
mmmmwm(mﬁwmm%m
(Imﬁzmﬁ%ﬁm% (2) THEE I @ W e &
(3) Sefawm e € w@r T &  (4) ¥R S E e e @
el R-L ftwy &1 Freis g =7 fr W R

| 2L

(1 a=2 @ 2=% () A= (4 2=2
fereft aﬁvﬂR-Lqﬁwﬁz\mmﬂmmﬁmmﬂ%mmmﬁaﬁmmw
(1) 63% | (2) 53% (3) 50% (4) 90%

aamfaw%?ﬁmﬁaaﬁa:raummmmwn%ﬁm%.@ =
FIAAH FEa B '
(1) R-L qftqy (2) R-L-C qftqy (3) R-C uftuy (4) T | w7
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179. f;m?s;i“écgi‘f:mm& has an njternal resistance of 20 MQ. Current source is stiff, when the
(D0t0200k@  (301020kn

(3) 0to 100 kQ (4)0t02k2 g0 i ¢
180. Which of the following is not true about voltage source? F;:;
(1) Source resistance(R,) is typically low g
2y Load resistance is greater than 100R, i TP
(3) Load voltage is constant w e
(4) Load current is constant and independent of load resistance (R;) i

181. A sinusoidal ac has a frequency of 50 Hz and a peak value of 20 A. Starting from zero, how
long will it take the current to reach 10 A for the first time?

r(1) 11200 s (2) 1/600 s (3) 1/400 s (4) 1/250 s

182. Two capacitors of 15uF and 30pF are connected in series. The circuit current when this

y _w
combination is connected across 50 Hz, 200V supply mains is . AT
(1) n/5A (1A (3) W2 A 424 BAg o
Ol 4
183. A sinusoidal voltage v(t) = 100 sin 1000 t is applied a pure capacitor of 100pF. The power is ’
given by i
(1) 500 sin 2000t watt. (2) 100 sin 2000t watt. §reoL
(3) 500 sin 1000t watt. {:4} 100 sin 1000t watt. 2
184. A 100 pH coil has a Q value of 200 at 2 M Hz. The effective resistance of the coil is
\_91)’21: Q 2)4n Q (3) 6n Q @H=nQ 5 whail
185. At half pa\ﬁer points of a resonance curve, the current is b 2
(1) 2 times the maximum current. (2) % times the maximum current. .
«(3¥10.707 times the maximum current. (4) 1.414 times the maximum current. BYg=s:
186. Higher the quality factor (Q) of a resonant circuit _ s
(1) broader its passband. \(#} narrower its passband.
(3) greater its bandwidth. (4) sharper its resonance.

187. Time constant of an R-L circuit is given by

2L L _L _R
(1) A== J2) A=3 & T ) A=
188. In a one-time constant, current through a series R-L circuit rises nearly
m(‘l’)El 63% of its final steady value. (2) 53% of its final steady value.
(3) 50% of'its final steady value. (4) 90% of its final steady value.
189. The time during which capacitor charging current becomes 37% of its initial value is called time
fan ¢ ot :
Ef;l sﬁ?it;muh' (2) R-L-C circuit, \9}’1%-(‘.‘ circuit. (4) None of these
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190. fft wfimy wn § | @ afoa amaft 91 50 5 whe Lo Gl ".
(1) SRt (2) Wgem (3) = (4) famigem h ":-r?,
191, w¢ Iy farm o 4 aifoq fema 91, wmmmmmmmm
F1 dieedl TgH F THEE 9RO S weem 8

(1) Fw1: e, w0 e o werwm (2) o W, g SR wwEr
(3) o Hrger, g i www (4) ¥ & F T

192. ¥ IR R-L-C ¥feww F i R, L 3R C grn o= fem wmo @) ooy 1 4 formm

(1) W99 =1 @m (2) I & S

(3) @M1 & S (4) @ Heforem @ 8 T R ST
193, N¥iat # ezl @1 sifueran wen ® wwd #

(1) 8 (2) 18 (3) 32 @16
194, wnifram & M Y& o seaRE % wen ol 8

(1) 4 (2) 18 (3) 8 (4) 2
195, fadl &1 anlorew § ww g & 79 W B 8

(1) W A ¥ fae (2) arfty w7 [ Wl geRHl

(3) e Az yEt (4) warm 5 A oA
196, P-N %l 3f afim meem

(1) wmra o i & ww wed) @ (2) o afy @ e we

(3) g o afl W@ wy wed @ (4) A W T onl #

197, afx wwe 01000, 40 i w w, @ peN T A sem
(h.oo2vw sl (2).02vee solt @3).02vVag ol (4) smwfw R

10K, falh PNl e mownli e A wow 1w B
(1) vt e (2) Wl & wew "p
(3) W o s e (4) v mrend W srqufiafi
100, Wiy (s e (wnfe) o w0 s wfn #)
(1) Tl v ol e of wag )y (2) feth v Al farme o uw v Al ww
(3) feah &) W oo o v ol (4) fareh 1 < foore W ws ) W
200, afier it /) vt B g gl sh feed o) aigfvee ol mwend) 8
(1) Him (2) Sl (3) fetrm (4) 517718
CoteJH/N £1)
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190. The process selecting a desired frequency out of a complex wave is called ;
(1) superposition. (2) modulation. (3tuning. (4) demodulation.

191. The function of a tuning circuit to select the desired signal out of the many available, to reject
all undesired signal and to increase the voltage of the desired signal are called
b sensitivity, selectivity and fidelity respectively.
(2) fidelity, sensitivity and tuning respectively.

(3) modulation, sensitivity and tuning respectively. ﬁ
(4) None of these J4Y
192. In a parallel R-L-C circuit, if R, L and C are doubled, then band width of the circuit will
. {)) remain same. (2) be doubled. -
(3) be halved, (4) be 8 times the original bandwidth.

193. The maximum number of clectrons the N shell can have is _ :
(1)8 (2) 18 A2 (4) 16

LM
194. The number of electrons in the M shell of germanium is .
NIE (2) 18 (3)8 (4)2

195. The current in the intrinsic semiconductor is mainly due to

(1) holes in the valence band. (2) thermally generated electrons,
v(,]) conduction band electrons. (4) electrons in the valence band.

196, In the P-N junction, the barrier voltage
(1) decreases with increase in temperature.
J2) increases with increase in temperature.,
(3) decreases with decrease in lemperature,
(4) is independent of temperature,

197, 1 the temperature increases by 10°C, the P-N junction barrier voltage
(1) decreases by 002V, (2) decreases by .02 V.,
3) increnses by .02 V. (4) remains unaflected.

198, The depletion layer of a P-N junction diode is due to
(1) doping ol the materials,

(2) reverse biasing of junction,
(3) forward biasing of the junction,

A4 absence of current carriers,

199, Clamping is a process of introducing w/an
(J)de level into an e signal.

(2) ue level into an ac signal,
(3) ne level into a de signal,

(4) de level into a de signal.

200, The random motion of free electrons and holes due to thermal agitation is called

(1) doping, (2) fonization. (3) dittusion, L) drift,
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